— > b 21y / f) fa) N .3 o
X AS (};/ [""‘ Ao A ST 18X = T LY
) i F ; A?
\é_/ (p)(x E e
i &
SR LBy ) 1Bt Uy s
A fft‘;nbl :/) o X’i«? ERCEN b;) n '?(;)‘L-dw;l\ D)
Fcad B o /] ~a
€ L/i/}( ,.CH/MJ ol Yj'if;’“;h fe J 4_\[5’- c«‘?a)f’w//
G’//If’ HESI N e | Ok (kB8 )= 3] [ Ehewa)
\,'3?,’7\ / NERSR & 7
\ ¢ y. @}\' S .')( | -
91/ AT L eplae) [ Ot
71ty / LI ¢ pal Ivt )
. /S~ 4 ' \
4{\“ / \/"“Zat ) - %é ) (i ;:e’) ' 1= 'ii;&‘ Z_:’ q ) o
!/ 7 2\/"2«? B az \} 6(25{ v
L:/} {am /3@) Ax [‘B,z) (g,{ "= Be
A
T et en 1 LA Nbe?. 0
V ( % v Ol e .2l | o
= FSNIOR R o
= > . 2 | -
" i | - 1] ‘. Pl - N B
Z) e )l loX T+ AWy L N&eENH)
17 /- "3 T
¢ ) (o) & Oy b =2 CE
" )
/S(/‘ o7 A 2 Lls a4 % Wee ot
! = s /,

Na




: ____I_ 55 [ ]
ﬁ, “ i

L g
‘() _;(_Jx'-u)’
J) %(x’—3x+|)°
ly - u-ey
{/ L %(1—2.{()" '

, |
pu) x + x4+ %
|

Ay g
/0) PR
e
C)/‘ 3_\]+2x—’_41‘
xd |
V) ke
. 2.3
S i

g 5o/
%) %, 7
Clta)’—;(xw N

ol 25 -2

3
ﬁb/ i (\y.\' + %\yx’

Lwy 2 /T e T \

|

Q(;) 2/9 + x°
A .l.
6;]/1 -i—\/Sx’ T8
I e
cﬁ/ 3V + 1 \
. - 5
o —;-x\/x +3x\/2x 3
-3
fj)/x’ +%x \‘yx
i
2 ey
w[/ X ..\/A
,.,,// 2\/)7-1
' x
Qos %x“ + 2x! + -t-;—x’ X
w2 x1-5c+6) /x! — 5x + 6
Vi +6)/ r
&yésin(x)\/sin(x)

(e )

cua}

oR)

&

— %cos(]x)
%tg(Zx)

3 sin(x) — 2 cos{x)
1g(x) — x

l sin(4x)

8

-I-sin"(x)

6

hs —;-cos’(x)

2
iy cos’(%)

—;—(l — cos(x))*

|
I + cos{x)

e
sin(x) — ;sm’(X)

—1
8 (4 sin(x) — 1)?



